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Question Number : 1 Question Id : 413781101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Which type of fire extinguisher is used for controlling the fire due to electricity?

Options:
1 # Class A

> % Class B
o Class C
% Class D

&,

=
4

Question Number : 1 Question Id : 413781101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
el & FRUT T T AT Fr AT w9 F B Ty ger & dfTaraEs ga@er B e 82

Options:

1 ® E?ﬁ'A

Question Number : 2 Question Id : 413781102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
The amount of leakage current stops the breathing action of human being after passing through chest is:

Options:
1 % 1mA to 8mA

- % S8mA to 15mA
=z « 20mA to 50mA
4 % 100mA to 200mA

Question Number : 2 Question Id : 413781102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
st fagge amr & fFael AT oIl § RS F A AT Y 9T A A F UF Fehelr 27

Options:

, % TmA & 8mA

> % 8mA ® 15mA
-« 20mA & 50mA

4 » 100mA & 200mA

Question Number : 3 Question Id : 413781103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1



Which relationship can be used to calculate leakage current?

Options:
i v I:E.".R.

> % I=ER
= R I=R/E
4 % I=R’E

Question Number : 3 Question Id : 413781103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

HleT TN FEY dAehed G URT T 0T T & T 9274w fRar o1 wehar 87

-

Options:

. v I=EIR
, % I=E.R
- = I=R/E
4 % I=R%E

Question Number : 4 Question Id : 413781104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Which standard notation is used for the kilowatt hours?
Options:

1 ® kwh

> % KWH

= « KWh

4 ® KWh

Question Number : 4 Question Id : 413781104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

T O ATdF Tohdd Saae ge & fore gaer &Far smar 22

Options:

- % kWH
- v kWh
. % KWh

Question Number : 5 Question Id : 413781105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
In case of DC current., conductivity of aluminium as compared to copper is?

Options:



1 % 51%
> o 061%
= % 71%
4 % 81%

Question Number : 5 Question Id : 413781105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
DC Taggd 9T & AFA H, TegAIAIH HI Joiall H i Sl AToiehal ohaiall &l &7

Options:

% 51%
> & 61%
s % 71%
L % 81%

Question Number : 6 Question Id : 413781106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
The magnitude and direction of which quantity changes with time?

Options:
1 « AC current

> % DC current
5 % DC voltage

4 % AC and DC current both

Question Number : 6 Question Id : 413781106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

fTafofea # 9 g aftamr 3k or & @87 & gy ofigaa 37 Jar 82

Options:

| v AC faggg am

oo DC ECLCRSIRY

- % DC arees

o arar AC d2T DC Regd om

o

Question Number : 7 Question Id : 413781107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
105A is equivalent to:
Options:

1 1nA



5 % 10pA

5 % 100uA
4 8 1000pA

Question Number : 7 Question Id : 413781107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
10°A former sTmeT 87

Options:

1 v THA

2 % 10HA
.« 100pA
, % 1000pA

Question Number : 8 Question Id : 413781108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
1 Coulomb is equivalent to:
Options:

ol8

, « Charge 0of 6.29x10°" electrons

» % Charge of 6.20x101? electrons

- % Charge of 6.29x102° electrons

4 % Chargeof 6.29x102! electrons

Question Number : 8 Question Id : 413781108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
1 e foras e 82

Options:

|« 6.29x10'® soee & A
, % 6.29x10"9 serrEr & s
. » 6.20x10%0 soFE & e
, % 6.29x10%! sorFeT & e

Question Number : 9 Question Id : 413781109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Alteration of an alternating quantity is equivalent to:

Options:



1 % 90°

> % 120°
3 % 150°
4 « 180°

Question Number : 9 Question Id : 413781109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
T deFfodsh AT H INId [ds areT 87

Options:

, % 90°
. % 120°
- % 150°
4 v 180°

Question Number : 10 Question Id : 413781110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Voltage required to drive the current between two points i a circuit is called:

Options:
1 % Electromotive force
> « Potential difference

5 = Magnetomotive force

4 # Electron volt

Question Number : 10 Question Id : 413781110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

v 9y # g7 fegait & 99 fSgq amr & wEes e & T g dees FaT wEr AT 27

Options:

1_%31%1@3313?__’ o)
5 v EHEEaT
Slgmﬁma IEF T

, x SoEgie doe

Question Number : 11 Question Id : 413781111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Ohm’s law i.e.(I a V) is applicable for:
Options:

1 « A fixed metal conductor



-~ » Electrolytes where enormous gases are produced on either electrodes

- » Arclamps

4 % Metals which get heated up due to flow of current through

Question Number : 11 Question Id : 413781111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
HEH & @TH (Ohm's Law) 31T (1 o V) fFas T @t gar 82

Options:
| v T TR g aig

= Tega-7Teuey & soats F el off R W 9= A # Y 39+ gl 8l

=z ® 3-11'3!-7?]:':!'
e uTg S Fegd F TAE F FROT TH & A g

Question Number : 12 Question Id : 413781112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Resistance in a circuit opposes:
Options:

, » Flow of energy

- u Flow of power

5 # Flow of voltage

4 « Flow of current

Question Number : 12 Question Id : 413781112 Question Type: MCQ Option Shuffling: - Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

gferrer U Withe & fFrgerr f&ader aar 87

Options:

, % FAT FT TG
. » AT FH F&E

- » dlecsl & FaTE

aish faega umr & gar

Question Number : 13 Question Id : 413781113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
The property of Conductivity of a material is proportional to:

Options:



| ¢ IR

s % 12R

i
4 ® R

Question Number : 13 Question Id : 413781113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
T TETY T GIAEHAT F 0T FHF AR BT 87

Options:

, ¢ 1R

Question Number : 14 Question Id : 413781114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
Find the unknown currents in circuit. Given 11=10A. i»=4A. i5=3A

b
IE(/D
R e .
x Z
i1 e 2, vy ::3. Z_—\\iﬁ
i c

P
'a HH"*-\.‘_ iz 4
Ig

iy

Options:
| % 13=5A., 14=3A. ig=4A and i7=TA

5 ® i3=1 A, 14=4A. i5=5A and i7=8A
5 ® 13=2A, 14=5A. i5=6A and 17=9A
4 i3=1A, 14=6A. ig=7A and 17=10A

Question Number : 14 Question Id : 413781114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1



aRTY # AT fega and A #Y fEw & =104, i74A, i5=3A

fl

Options:

| = 135A, i4=3A, ig=4A T i7=7A
o % 1371A, i4=4A, ig=5A FT i7=8A
. % 1372A, i4=5A, ig=6A FT i7=9A

4 v 13=1A, i4=6A, ig=7A TT i7=10A

Question Number : 15 Question Id : 413781115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Which insulators are fitted between stay wires and electric poles?

Options:

1 « Eg88 insulators

> # Pin insulators

= # Disc insulators

4 % Suspension insulators

Question Number : 15 Question Id : 413781115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
® AR R e & @ & 6 A FiF @ Regerdt s S 82

Options:

| T e
L O faEged

. x BT faggaud

, « TEIRE fagge



Question Number : 16 Question Id : 413781116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Which type of switch is used to control the call bell?
Options:

Flush switch

®

i
Pull switch

E

e

o,

3 « Push button switch

4 = Rofary switch

Question Number : 16 Question Id : 413781116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

FId g Fr FIET FT F BT Fg 95K F =59 #7mar J=r 22
Options:

| % T TEET
go &=

o ® 2

. o T e T
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Question Number : 17 Question Id : 413781117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Screw lamp holder is used for lamps of:

Options:
1 « 300W and above.

5 % 40W
5 % 60W
4 % 100W

Question Number : 17 Question Id : 413781117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

TF o glesT & 399 fFE 99R F o9 & o fRar S 87
Options:

.« 300W 3R FEX

> % 40W

5 % BOW

4 % 100W



Question Number : 18 Question Id : 413781118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
As per IS:732 ceiling rose can be used for supply voltage up to:

Options:
1 % 200V

5 % 400V
5 o 250V
4 % 650V

Question Number : 18 Question Id : 413781118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
1S:732 ¥ HFFER, WoRT A F 39TRT Pl Jeesr 3l & e fGar s wear 27

Options:

| % 200V
o = 400V
2« 250V
., # 650V

Question Number : 19 Question Id : 413781119 Question Type : MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Annealed copper wires are used for:

Options:
1 ® Overhead lines

> % Underground lines
5 » Earthing

4 o Wiring

Question Number : 19 Question Id : 413781119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
ararefiaeT HIOX @ ARt @ s9anT el Gar S 82

Options:

| x 3NES A
A E
qFFIH/ A3 (Earthing)

o R

4« TIRET



Question Number : 20 Question Id : 413781120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Colour of the neutral wire used for D.C. circuit is:
Options:

1 « Blue

> % Red
= % Black
4 % Green

Question Number : 20 Question Id : 413781120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

8. 9wy & BT woer 7Y A 9 F9ge ) F TT HiT A OEE 87
Options:

1J#|?"!T

g_ﬁm

S_QW

4 % &0

Question Number : 21 Question Id : 413781121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
National electrical code 2011 is applicable for:

Options:

, % Systems of distribution of energy to public
> % Traction

= % Motor vehicles

4 « Electrical installations of agricultural premises

Question Number : 21 Question Id : 413781121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

T~ faege wiear 2011 e o ameg e &2
Options:
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Question Number : 22 Question Id : 413781122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 4 Wrong: 1
The current flowing to earth on account of imperfect insulation is called:

Options:
1 % Earth Fault

- % Insulation Fault
5z % Overload
, + Earth Leakage Current

Question Number : 22 Question Id : 413781122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

HYOT Rgga Tua & FROT g2 A RAegd unT F 9GE F R FET 22
Options:
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Question Number : 23 Question Id : 413781123 Question Type : MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Equipment which is moved while in operation or which can€asily be moved from one place to another while connected
to the supply is called:

Options:
, « Portable Equipment

> » Hand-held Equipment

5 % Stationary Equipment

4, » Fixed Equipment

Question Number : 23 Question Id : 413781123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

39sRtoT e Rt wares @ ufa & femr st @ oo 5@ amafd @ 33 @ & SEsg wear ¥ v
™F ¥ @ T d% o A S ThdT g, 35 FIT Fgl a1 87

Options:

| TEAT IIHIOT
. x B H s el ITHI0T

5w TUTT 39RT0T
4 % TEIR 3907



Question Number : 24 Question Id : 413781124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
What is the highest system voltage (KV rms) for a Pin-Insulator designed for 11KV rms nominal system voltage?

Options:
1 « 12 kVims

> # 13 kKVrms
z % 14 kKVrms
4 # 15 KkVrms

Question Number : 24 Question Id : 413781124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

11kV rms & Tikfae deesl Jomelr & fav AT v Re-Regaied & v s=aa7 dees gome(ky
rms) FT &7
Options:

1« 12 kKVrms
> % 13 kVrms
=z % 14 kVrms
4 % 15 kVrms

Question Number : 25 Question Id : 413781125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Identify the breaker which trips the circuit when there is earth fault current:

Options:
. « RCCB

- % MCCB
2 ® MCB
4 % HRC fuse

Question Number : 25 Question Id : 413781125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
38 IETE HI TEAA H A HH I Tega @ | aftmy & T T & g

Options:

, v RCCB
. « MCCB
-« MCB

, » HRC ot

Question Number : 26 Question Id : 413781126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 4 Wrong: 1

The amp rating given on the fuse or MCB body is called:
Options:

, w DBreaking current

- « Nominal current

5 % Iripping current

4 % Short circuit current

Question Number : 26 Question Id : 413781126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
IS I CHEET S8 9T T T amp I o FAT FET AT 87

Options:

llﬁﬁa@_aﬂmﬁmr—r
EJWWW
.« g o Rt
o IRgy fFega amo

.

Question Number : 27 Question Id : 413781127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
The miniature circuit brealkers are designed for rated current upto:

Options:
1 ® S0A

5 « 100A
3 % 200A
4 % 300A

Question Number : 27 Question Id : 413781127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
oy IRy Ew # FE @ g @ fegd o 9% & e samar s g2

Options:

, % 50A
-+ 100A
5 = 200A
., = 300A

Question Number : 28 Question Id : 413781128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1



Which relationship verifies the Kirchhoff’s current law for the figure given here?

I
Ig Y I2
[7 e 13
Is 14

l.,,n%_

Options:

y o I1Ip- I3- It Is- Igt Ipadg=0
> % I1-Ipt I3- Iyt Is- Igt I7- g0
2 % DD~ I+ Iyt Is- Igt+ I7- Ig=0
4 % TD T Lt I Te+ It Tg=0

Question Number : 28 Question Id : 413781128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
TH AFa H Fid & o s & ega onr & s & gfe war g2

I
I= T Iz

Options:
o 117l2- 13- g+ 5= g+ I7- 1g=0

> % l1-lo* 13- g+ Is- lg+ I7- 1g=0
3 & 11712~ I3+ lg+ Is- lg+ I7- 13=0
4 % 117127 13- 14+ I5- g+ 17+ 1g=0

Question Number : 29 Question Id : 413781129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Which relationship is based on the Faraday’s first law of electrolysis?
Options:

1 « m=Zit



- % I=Zmt
z #% t=ZIm
4 % Z=mlt

Question Number : 29 Question Id : 413781129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
FiT T 9T W2 & feegd HIueA & 9gol fagw 9T 3 22

Options:
1 ¢ m=Zit

- B I=Zmt
= ® t=Zlm
4 % Z=mlit

Question Number : 30 Question Id : 413781130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Which law states that the chemical deposition due to flow of current through an electrolyte is directly proportional to the
quantity of electricity (coulombs) passed through it?

Options:
1 % Lenz’s law

> % Joule’s law

-  Faraday’s first law of electrolysis
4 » Faraday’s second law of electrolysis

Question Number : 30 Question Id : 413781130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Fi @1 Ao Fgar § & ve Rega-smuey & Aregs ¥ Regd 9 & W6 F FRor gaafae Her
WWWW%@HW{TWMJﬁ'mm#m@W%‘?

Options:

| % ofea T @TH
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o R
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T w2 F e srwed & guu fFan

Question Number : 31 Question Id : 413781131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
The nature of electric supply used in electroplating process is:

Options:



, % Lowvoltage high current A.C.

- % High voltage low current A.C.

5  Low voltage high current D.C.

4 » High voltage low current D.C.

Question Number : 31 Question Id : 413781131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Rega ova Sfkar # gaT f = aer Rega o #r smaia f e &

Options:

FH dee 3=+ fFega 9nr AC.

3= o FH ﬁl?;g?—l‘ T A.C.

1 ®

> R

, P aecs 3I=9 Fcla'g?-r T D.C.

3= dlecs FH ﬁ?{gﬁ' T D.C.

4 %

Question Number : 32 Question Id : 413781132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
‘What is the electrochemical equivalent of SO4?

Options:
; % 1.118

> % 0.304
s % 0.0936
4 « 04975

Question Number : 32 Question Id : 413781132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

SO, & REgd-THI Jode FT 872

Options:

. % 1.118
. % 0.304

- % 0.0936
. v 0.4975

Question Number : 33 Question Id : 413781133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
A completely change of magnitude and direction of an A.C. current waveform is called:

Options:



| % Frequency
o o Cycle

z % RMS value
4 % Peak value

Question Number : 33 Question Id : 413781133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

v AC. Rega awmeRr & aftAmnT AR fGur & o g @ aREdsd & @ JE 2
Options:

| % Ifed

> o T

s » RMS A

4 % oY AT

Question Number : 34 Question Id : 413781134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

In transmission lines the cross arms are made of:
Options:

1 % Wood

Plastic

®

z.
3 o Steel

4 8 Copper

Question Number : 34 Question Id : 413781134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

TEfANE TR & o w19 31e Fay §a9g 3 32
Options:

1%&7"’@-
g_wﬂm
3 v F
4.%3%:*?

Question Number : 35 Question Id : 413781135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

The ratio of rms value and average value is called:
Options:

1 % Power factor



- % Peak factor
- « Form factor
4 % Crest factor

Question Number : 35 Question Id : 413781135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
rms A AR AET AT F I F FAT FET A1 &2

Options:
| ® AT FH

. % Y FRF
= v BIH FRF
4_$¢< mm

Question Number : 36 Question Id : 413781136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
The value of peak factor for rectangular waveform of an alternating quantity is:

Options:
. % 111

5> % 1.15
s % 1414

4 ¢ 1

Question Number : 36 Question Id : 413781136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

U o9 AT F HTIFR J36 F T oY &7 1 749 &
Options:

L% 111
> % 1.15
2 % 1414

4 ¢ 1

Question Number : 37 Question Id : 413781137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
What will be the frequency of an alternator output having 12 poles and 500 r.p.m. speed?

Options:

, % 40Hz
5 « 50Hz
= % 55Hz



4 % 60Hz

Question Number : 37 Question Id : 413781137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
12 drer 3K 500 r.p.m. U HEETAET_IcTES H Hglcd FAT EE?

Options:

| % 40Hz

. v 50Hz RJ
. % B55Hz

, % B0Hz \

Question Number : 38 Question Id : 413781138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
In case of pure inductive coil of inductance L. the behavior of A.C. voltage and current will be:

Options:
; % Voltageahead of currentby 180°

» w Voltagebehind of currentby 180°

-  Voltageahead ofcurrentby 90°
4 % Voltagebehind of currentby 90°

Question Number : 38 Question Id : 413781138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
STERdT L & o WUT F3al & AHA H, AC. dieeat AN Rggd anr &1 c¥=gr gem:

Options:

| ToeS Taege umr § 180° T A
L x Fecs faEge U & 180° i g
dees e amT ¥ 90° 3T g
dees faegd umr ¥ 90° 9y ZeEf

3 W

4 #®

Question Number : 39 Question Id : 413781139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

In an A.C. circuit. the power developed in the inductive reactance of the circuit is called:
Options:
. w Apparent power

o w Active power

5  Reactive power



, = Real power

Question Number : 39 Question Id : 413781139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

& AC. 99y &, 9Ty & W gfaua 7 g afea Fr 47 Far Jar 22

Options:

| % SeIeT orfed

o ® aiehT o

5 AT ofea
4 % IrEataeR ofed

Question Number : 40 Question Id : 413781140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
In a three phase system. the alternator has three independent armature windings which are:

Options:
, « 120 electrical degrees apart

- % 120 mechanical degrees apart
- » 90 electrical degrees apart

4 % 90 mechanical degrees apart

Question Number : 40 Question Id : 413781140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
T I B UMY H, Heelael H JF T9aT HH=R IrsAET gy £ S
Options:

| 120 fega fEal & gf W aa &
L 120 T Bl Fr gfr = A &
. 90 REga 3 & gff W aa &
90 Ty fEefr & gfr o & &

=

4 #®

Question Number : 41 Question Id : 413781141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Soil resistance depends on which factor?

Options:
1 % Material of the electrode

> % Size of the electrode



= « Moisture content of the soil

4 » Resistivity of the electrode material

Question Number : 41 Question Id : 413781141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
HqeT SieRry FiT ¥ FRE W AT Far 2

Options:

o % FOFGIS F HEHER
o » T T A B AT

4 % W%Wﬁqﬁﬁﬂm

Question Number : 42 Question Id : 413781142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

As per IS:3043. the term earthing and grounding are:
Options:

1 % Different

> of S}'IIDH}’!HDHS

5 » Used for body earthing and neutral grounding respectively

4, % Used for current carrying parts and noncurrent carrying parts respectively

Question Number : 42 Question Id : 413781142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

IS:3043 & AR, Meq sTHFTH IR IS &:

Options:

| % 3oTIT-3TeTT

> THETETET

_ , PR AR sEEd AR g asfEe & fav sy @ #)
4 %

FHT: e U FE F TTor qEN AR HREgF O A e & O @ B S gl

Question Number : 43 Question Id : 413781143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

The rotating part of a D.C. motor is known as:
Options:

1 « Armature



- % Poles
= % Carbon brushes
4 % Stator

Question Number : 43 Question Id : 413781143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
T AT Al F GUH ST H T §T H AT AT 87

Options:

| v FEFRR
5 % el
3 % FEA FaA
4.%@?\'

Question Number : 44 Question Id : 413781144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
In which part of the D.C. generator: field is available for electricity generation?

Options:
1 ® Armature

~ % Commutator
= % Conductor
4 « Yoke

Question Number : 44 Question Id : 413781144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
. TR F R AT F, 87 RAegga souea & e sueey g7
Options:
1 ® H'ﬁi?
FEYeT

o ® o~
3 % Hdlgeh

Question Number : 45 Question Id : 413781145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Working Principle of D.C. generator is based on:
Options:

, « Faraday’s law of electromagnetic induction



- % Kirchhoff’s current law
- » Kirchhoff’s voltage law

4 % Lenz’slaw

Question Number : 45 Question Id : 413781145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

AWM. FAET F F¥ BT Fy 9w mia 22

Options:

| S # Regd gEehE Sor 1 REid
= s #1 Rega feE

s » TS F Ao e

L % o= @ fTEd

Question Number : 46 Question Id : 413781146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Which rule/law 1s applied to determine the direction of rotation of D.C. motor?
Options:

, « Flemings left hand rule

- % Flemings right hand rule

5 » Faraday’s law

4 % Lenz’slaw

Question Number : 46 Question Id : 413781146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Fia @ fmA/fEE .48 AT & uie & e RuiRa & F @ aep fFar a2

Options:

| v TFATHT F T g F HAH
., » TR & 0 gy F FIs
3 ® e & BEa
4 % o= I BT

Question Number : 47 Question Id : 413781147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

What will be the value of back E.MLF. in the motor, when it is in stationary condition?
Options:

1 #® -1



2_231
z « 0
4 % 2

Question Number : 47 Question Id : 413781147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

ST AT BT 39eyr & @ £, O suH 9% SUA.UE (back E.M.F) &7 AT FaT F1?

Options:
1 ® --]

2_231
3¢ 0
4.232

Question Number : 48 Question Id : 413781148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
What will be the speed of D.C. motor when field flux increases?

Options:
1 & Decreases

- % Increases
= % Remains constant
4 % Zero

Question Number : 48 Question Id : 413781148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
9 &7 voeE # gie & A & H.8 Jex Foafg F oRmas w2 gem?

Options:

| v T AT E
, % 9% A &
. % O @A E

x

Question Number : 49 Question Id : 413781149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
In which condition. speed of the D.C. shunt motor can be increased 100%?

Options:
, w By addition of separate series resistance in field winding

o o When the resistance of separate rheostat and field winding resistance is equal



- % When the resistance of separate rheostat is less than the field winding resistance

4 % When the resistance of separate rheostat is more than the field winding resistance

Question Number : 49 Question Id : 413781149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

o oafE &, 9.8 o A & 71f3 100% T2
Options:

| w & aEfEer # e Ao gfey
o & ot FEara # giaw IrEfEer gfeRT & == & ¢
TefEer wfatr @ &5 g &

e aEfEer gfoRy & 30w g &

o 9 3o T F gfay

Question Number : 50 Question Id : 413781150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Which is the correct relationship of torque produced by armature of D.C. motor (in C.G.S. system)?
If - p is number of poles. ¢ is flux in magnetic field per pole. Z is number of armature conductor and I is current in

each armature conductor.
Options:

. % T=1.173p¢ZIx107

, % T=1.59ppZIx107

- « T=1.59pdZIx10~

4 x T=1.173p(ZIx10~

Question Number : 50 Question Id : 413781150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

.4 AeT F 3R FT @R AfAT syt F v #iF @ g9y @@ § (@S gomer #)?
afg e 1 WEAT - p, TeUF U F HJHN @A 81T H FoloFH ¢, HH o hseed HI §E&dr Z AR
Sede A=Y & FEael H f¥ega an e

Options:

% T=1.173p§ZIx107

. T=1.59pdZ1.x1079
. » T=1.59pZIx107

« T=1.173pdZl.x102

Question Number : 51 Question Id : 413781151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 4 Wrong: 1
Output voltage of transformer produced due to mutual induction in secondary winding depends on:

Options:
. » Typeofcore

> % Lypeof winding
5  Number of turns in secondary winding

4 % Number of turns in primary winding

Question Number : 51 Question Id : 413781151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
gfadas arsfEer & 9REafia T F FWROT SEBER F HFEYE does hd o HR gar 272

Options:

| % P F TFR

, « ATEET F IEN

afreires AR # gEEt & wE
STafEe AER F gAEt FrwE

Question Number : 52 Question Id : 413781152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Instruments. which indicates the instantaneous value of electrical quantity is known as:

Options:
1 % Integrating and Recording instruments

- » Integrating instruments

5 » Recording instruments
4  Indicating instruments

Question Number : 52 Question Id : 413781152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
39I0T, FT &=l & AT FT dlcehloleh AT SoTd T & 8 7 J a7 J1aT 87

Options:

| » Seerifeer AR RNeifser susHyor
, % SeCIAfEIT 3UFHIOT
- % TLRITET 39RIOT

bl e
4  Tehldsh 3TeRU]




Question Number : 53 Question Id : 413781153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Which type of meter is used only for D.C. measurement?

Options:

, w Induction type

» # Hotwire type

5 » Moving iron type

4  Permanent magnet moving coil type

Question Number : 53 Question Id : 413781153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Fad . F AT F BT FE gErw F Her gaer GFar Far 82

Options:

1 % ST TTET

2 % TH AT T

o w TTRirer ST T

, o T e el gEe e

Question Number : 54 Question Id : 413781154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

Which Instrument is used for testing the insulation resistance of a circuit and for measuring resistances of the order of
megaohms?

Options:
1 % LCR meter

5 % Tong tester

% % Earth tester

4 Megger

Question Number : 54 Question Id : 413781154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

TE IRTY F Tegere IRy F I F AWK A & w7 F 9wy # A & o #ia a@
IUSHIOT FAT AT S 27

Options:

< g TieT



Question Number : 55 Question Id : 413781155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

The speed of the rotating magnetic field in the air gap of 3-phase induction motor is determined by:
Options:
. « Number of poles and frequency of applied voltage

> % Number of poles only
5 » Frequency of applied voltage only
4, % Dimension of air gap

Question Number : 55 Question Id : 413781155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
3 T WRUT AT & FAT FAS H giva Tehrg & Fr i fraw fafa g 27

Options:

| o T & e HR e e F ghed

- % el Oiel & TEI

. w Pael o] e T Fgfed
, % &1 e & HEAH

Question Number : 56 Question Id : 413781156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
The device used for wind speed measurement is called:

Options:
1 % Manometer

> % Thermometer
5 « Anemometer
4 % Hydrometer

Question Number : 56 Question Id : 413781156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

gaT Fr I A & T 99T R A ITeT IUHIUT FT FIAT FET AT 27
Options:

| % CISHATIT
zléﬁm
S_t“’m




, w BTEEEIT

Question Number : 57 Question Id : 413781157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

In a photovoltaic system. solar cells combined in a series-parallel arrangement is called:
Options:
; = PN junction

> # Panel
3 « Module
4 % Array

Question Number : 57 Question Id : 413781157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

TF BleEiees YUl #, WX Hal H TH JTAT-TAATT
T H TAST o wran , S Fr s &
Options:

. % PN Seera

2_%%

St

s v TR

4.&5&

Question Number : 58 Question Id : 413781158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
What is the voltage level of high voltage transmission in India?

Options:
|« 11KV to 33kV

> # 11KV to 66kV
2 % 22KV to 33kV
4 ® 22KV to 66KV

Question Number : 58 Question Id : 413781158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
AT H 3= diec TAAAS FHT TedsT F T F4T 27
Options:

. v 11kV & 33kV
- = 11kV & 66kV
- x 22kV & 33kV



L % 22kV & 66kV

Question Number : 59 Question Id : 413781159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Why the conductors for extra high voltage transmission lines are suspended from towers?

Options:
, % Toreduce the weight of conductors

o  ToIncrease clearance from ground
- % Toreduce clearance from ground

4 % To reduce wind and snow loads

Question Number : 59 Question Id : 413781159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
HaeFa 3= Jees THEYT aEAl F U FEaedl # TR T FSHar FAT AT 22

Options:

| % HEFEL & FAA P FH Flo & T
L, o T F IR A I =S F R
o x STHT T WA FH FE F BT

Question Number : 60 Question Id : 413781160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Insulated gate field effect transistor is also known as:

Options:
, % JFET

-~ « MOSFET
z ® BIT
4 % MESFET

Question Number : 60 Question Id : 413781160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

fega adr 1T F &g weE I afeE # FE w9 7 &ff S S ge

Options:

. % JFET
- v MOSFET
5 % BJT

. = MESFET




Question Number : 61 Question Id : 413781161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

UJT does not have:

Options:

, w Ability to behave as switch

> % Ability to be programmed
5 » Ability to be forward biased

4 « Ability to amplify the input signal

Question Number : 61 Question Id : 413781161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

UJT & 18T 8T &

Options:

, % T899 & T H HEER HIA HT A
. mmgaﬁﬁm

. » PRES aTIH g T &THAT
4&3?3344'%@93%?@?@%

Question Number : 62 Question Id : 413781162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Highest linearity range is exhibited by:
Options:

; « Class A amplifier

> w Class AB amplifier
5 » Class B amplifier

4 % Class C amplifier

Question Number : 62 Question Id : 413781162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
=aad @ear 3 Fas qanr gt & e 2

Options:

> % T AB gaF




Question Number : 63 Question Id : 413781163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Hole is
A carrier in semiconductor
A tendency created due to lack of electron
Absence of electron

Correct statements are:
Options:
« 1only

L R
i i ¥

i
5 « land 3

5 # 2only
4 % 1,2 and 3

Question Number : 63 Question Id : 413781163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

fox gar 8
o 3T H UF IS
* TFCIA BN FAT & FRUT qATS T2 TH Tghed
* Solagler I HeaTeufa

TEr #4492

Options:

| % hael 1
5 1 99T 3

= # WE
on T2 T3

Question Number : 64 Question Id : 413781164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

The number of terminals in a UJT is:
Options:

1 & 1

2_%2
3 ¢ 3
4 % 4



Question Number : 64 Question Id : 413781164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Tk UJT #F faaar & g=ar Far 22
Options:

1 = 1

oW 2

3¢ 3

4 % 4

Question Number : 65 Question Id : 413781165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
LOCOS is used for:

Options:

, w Creating p-well

-~ » Etching operation

5 » Packaging

4 « Creating active region for the placement of transistor

Question Number : 65 Question Id : 413781165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

LOCOS fras forw 9o fFar JmEr 272
Options:

| % P N I=OT TWE H T

> ® vfEeT HOeE

o % SERTSET

, o TTSTEET & o & o0 WiRT 8T 1=

Question Number : 66 Question Id : 413781166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

KWL is not applicable to:
Options:

1 % Linear circuits

> % Bilateral circuits
-  Fluctuating magnetically linked circuits
4 # RLC circuits

Question Number : 66 Question Id : 413781166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 4 Wrong: 1
KVL fraer Tore &y @igr 27

Options:

1 ® ﬁ?qﬁqﬂ-
2% d”&“ Lo
|, ¥R gaf v & g oy

4 % RLC 9Rmyr

Question Number : 67 Question Id : 413781167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

The reduced expression of given function is
Y=ABC+ABC+BC+B'C+ABC’
Options:

1 ® B+C

- o C+AB’
2 ® A+B
4 ® A

Question Number : 67 Question Id : 413781167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

faT v wea T ST 99T &
Y = ABC + ABC +BC + B'C + AB'C’

Options:

1 ® B+C

> ¢ C + AB’
= % A+B

q 8 A

Question Number : 68 Question Id : 413781168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1



The frequency of resonance of given class C amplifier is:

+ VC

C 1~ 21 204

20 microF

Ry
10 Kohms

Options:
1 « 7.96Hz

~ % 25Hz
= % 2Hz
4 % 26.33Hz

Question Number : 68 Question Id : 413781168 Question Type : MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

T arv F=F C & vadw & AR #F Fgfed &

-rL"._*
?I:Im'u:n;!l: :j:“':'"
I
I‘—“. I:\_ | gnl
|'r:".?' “ i I i
B ;:'Re 1
J_ I 100 Khems
Options:
. v 7.96 Hz
. % 25 Hz
2 ® 2 Hz
4 % 26.33 Hz

Question Number : 69 Question Id : 413781169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1



The intrinsic concentration of a Si material is 1.5 x 1019 /em?. If it is doped by n-type material with doping
concentration of 2.5 x 1012 /em?. then the hole concentration is:

Options:

1 % 15X 1017 /em?®

=
3

o o O X 107 /em
z ® 25X 106 /em?

4 % 2.259 % 1010/em?

Question Number : 69 Question Id : 413781169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
U Si Fery F HaRke® wHEEr 1.5 x 107 /em® @1 I @ n-zrEw Terd F gevar Svan g, S aigan
2.5 x 10" jem® &, ar &g verarar 2em:

Options:
L% 1.5 x 1017 jem3

5« 9 % 107 jem?
2 % 2.5 x 100 /em3

4 % 2.259 x 101Y%em?3

Question Number : 70 Question Id : 413781170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
With the increment in the Q factor of a class C amplifier. which of the following effects will NOT occur?

Options:
1 % The bandwidth decreases

- % [lransistor dissipation decreases
% « The bandwidth of the circuit will increase

4 # Inductive reactance will decrease

Question Number : 70 Question Id : 413781170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
T C & 999F & Q FF H g A N FAeafaf@a # Sl a1 g9 721 gem?

Options:

| x =TET &7 g =h 7

, x SEET & HIeAT FH & A gl
. » Ty Fr d=fsy g7 FEh

. % I gfaerd 7 & ST gl




Question Number : 71 Question Id : 413781171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Identify the number of NAND gates required to implement Y = AB” + C. where B’ is the compliment of B.

Options:
1 = 5
oow 7
T W 3
4 ¢ 4

Question Number : 71 Question Id : 413781171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
Y = AB' + C % FHlead H & fov H=2ga NAND el &1 & A1 $If=v, 787 B & [T B’ 7l

Options:
1 % B
5 ® 1
o W 3
4.4 4

Question Number : 72 Question Id : 413781172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Find the percentage of Total harmonic distortion in an amplifier if the fundamental component is 10 sin 100 t and the
magnitude of components with double. triple and 4 times fundamental frequency are respectively 1. 2 and 3 V.

Options:
1 ® 42 %%

>« 37%
=z W 50 %
4 % 100 %

Question Number : 72 Question Id : 413781172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

U TAUF H T AR @wI0T & Sfaerd #1941 7w, afg Ao g2 10 sin 100 t § 3R 2N,
AR T IR I AR 3 aTer g F T{IOTA FA 1, 23K 3V gl

Options:

% 42%
s & 37%
- = 50%
. = 100%

Question Number : 73 Question Id : 413781173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1



The number of 1 * 2 decoders used to implement 4x16 decoder is:
Options:
1. 15

o W 35
T W 18
4 B 20

Question Number : 73 Question Id : 413781173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
4x16 fBFI=T 1 o] = & T 3waET R o 1x2 Bt f vEw

Options:

1. ¢ 15
> % 35
z % 18
4 % 20

Question Number : 74 Question Id : 413781174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
The binary representation of -65 in 2’s compliment form is:

Options:
1 & 10111111

> % 01110111
s % 10101010
4 % 11000001

Question Number : 74 Question Id : 413781174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
2's T TIUT H -65 F A FlAlifeea grem:

Options:

L v 10111111
. % 01110111
- = 10101010
. % 11000001

N

Question Number : 75 Question Id : 413781175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
The doping of Boron in a Silicon sample produces:

Options:



1« Ptype material
-~ % D-type material

= # Intrinsic semiconductor

4 % Conductor

Question Number : 75 Question Id : 413781175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

v B T F I & SR R W T Sewied A §7

Options:

| » P-2T3T Ty

, % h- TET IST

= e
= R Hled{sh He<dlolah
4 ® 2
eneral Aptitnde

Section Id : 4137812
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questions to be attempted: 25
Section Marks: 100
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 4137812
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 413781176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Select the related word/mumber from the given alternatives:
Court : Judge :: Hospital : ?

Options:
1 % Medicine

> % Nurse
= « Doctor

4 % Patient



Question Number : 76 Question Id : 413781176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

RT 717 Reeal # O 99T o=S/9EaT &7 939 F L

FUTATST: =ITarefrer :: 3Taarer?
Options:

L ® &
2_&3‘!—"_\&
5, v EfehcEs
4.&5%

Question Number : 77 Question Id : 413781177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Select the related word/mumber from the given alternatives.
6.49:°7 %
Options:
1 ® 63
o o 64
T B 65
rio)

4 ® =

Question Number : 77 Question Id : 413781177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

fev ov Rear # § a0 US/EETT & 99T I
b 28 =2

Options:

1 ® B3
> v 64
2 # B5
4 % 712

Question Number : 78 Question Id : 413781178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Choose the correct alternative from the given ones that will complete the number series:
766. 492, 274, 218, 56, ?

Options:
1 ® 42

- R 06
3 % 123



i 162

Question Number : 78 Question Id : 413781178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

T a0 RBeFedl & @ 37 TF VAT & A A TH HET FFA FH U7 HET
766, 492, 274, 218, 56, ?

Options:

1 % 42
- % 96
2 % 123
4« 162

Question Number : 79 Question Id : 413781179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
Which number is wrong in the given series?
11,16, 19,25 27, 32
Options:
1 % 16

o W 19

= o 23

4 B =

Question Number : 79 Question Id : 413781179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

&1 T TEA AT H Hid O &I e 22

11,16, 18, 25, 27, 32

Options:

3¢ 25

Question Number : 80 Question Id : 413781180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Sachin walks 2 ki towards East and then he turns to South and walks 3 k. Then he turns to his left and walks 2 km.
Again he turns fo his left and walks 6 km. In which direction is Sachin moving now?

Options:
1 « North

> % South



= % East
4 % West

Question Number : 80 Question Id : 413781180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

TR 2 E R Hr v sear g it A e Rer A s gear g 3l 3 ol soar 21 e =7
HI A% AR H3aT § HR 2 el T9ar &1 9% R @ a9e a5 3 gEar # 3R 6 T e 71 e
e g fGom 7 92 @/ &2

Options:
1.« 3

z_éﬁm

T RO

4_%3q'f5?m'

Question Number : 81 Question Id : 413781181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Sachin walks 2 ki towards East and then he turns to South and walks 3 k. Then he turns to his left and walks 2 km.
Again he turns to his left and walks 6 km. How for is Sachin from his starting point?

Options:
1 % 3km

> « Skm
z ® 6km

4 ® 8km

Question Number : 81 Question Id : 413781181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

| 2 G 97 foem &1 3 =@ 7 3 B afetor feem # i #sar € 3 3 G sear &) O 3w
IS A% AR [T ¢ AT 2 A Tear 8 97 O 39 a1 9 #gEar § 3R 6 R mear g1 wfew
¥ gRiEe fag & e gr &2

Options:

, % 3 TR
> v 5 TR
= % 6 TRar
4 % 8 fhaT

Question Number : 82 Question Id : 413781182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1



Pointing to a photograph of an old man. Gopal said, “This man’s son is my son’s uncle”. How is old man related to
Gopal?

Options:
1 % Grandfather

> % Uncle
= # Brother
4 « Father

Question Number : 82 Question Id : 413781182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

T §¢ TFT N UF TEIR B R FART FIA U AN F Fe, " Ao F T A [T FH AT R
g1 TiFg A ¥ 6 YR wFEtag 87

Options:
; = clal
- % ==l

%

Question Number : 83 Question Id : 413781183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

‘T’ is father of ‘P, ‘K’ is mother of ‘Q’. The sister of ‘P"and ‘R’ is ‘Q’. Which of the following statements is not
definitely true?

Options:
1 ® ‘K’ isthe wifeof °T°

> % ‘T is the father of ‘R’
s ¢ Q is the son of *T°

4 % ‘K’ is the mother of ‘P’

Question Number : 83 Question Id : 413781183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
J P F REr g K Q FrAr g QP R R & aga B Aeem wuet # ¥ s @ RRew
T T TET A& 27

Options:

| % :K: :J: ﬁ m %—
5 i :J: lRl T ﬁHT %—
:Q: :Js T gq- %—

4.‘% :K: :P:ﬁﬁ%



Question Number : 84 Question Id : 413781184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Six friends J. K, L. M. N and P are sifting in two groups of three each in two rows, exactly facing one another. ‘M’ is
not at the ends of any row and is to the right of “N°, who is facing ‘L’. ‘P’ is to the left of ‘K’. who is facing ‘M’. Which
of the following groups is in the same row?

Options:
1 v JMN

o> R JEL
o W MNE
E MNP

Question Number : 84 Question Id : 413781184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

o8 BT J, K L, M, N 3R P & gl # 8% 3& 6 d-ai @ gfed J 3 &, ‘M &l o 9
Fim At N Tt AU FTEEH P K FaE vy M & e
Fffla g & @ #ia @ & 9fF & dor 17

Options:

v JMN
> % JKL
- = MNK
. % MNP

Question Number : 85 Question Id : 413781185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Sanjeev is taller than Rakesh. Dinesh is taller than Ravi. Mahima is not as tall as Dinesh but is taller than Rakesh. Ravi
is shorter than Rakesh. Who is the shortest. amongst them?

Options:
1 % Rakesh

> % Mahima
z % Dinesh
4 « Ravi

Question Number : 85 Question Id : 413781185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

T T ¥ 5T §1 o I § o g AR Ay A o F@ § oifeha Teher ¥ o &
T Trer & oleT 8| 39 W9 H UEY T HiT 87

Options:

1 ® TIT?FQF
2_%39:%::”



5 ® foeTer
o

Question Number : 86 Question Id : 413781186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
In a certain code, SYSTEM is written as TZTUFN. How is STUPID written in that code language?

Options:
i ® RSTOHC

, ¢ TUVQIE
5 % TSVOIC
4 % DIPUTS

Question Number : 86 Question Id : 413781186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

s AT = gmor F, SYSTEM & TZTUFN & &7 & fr@r 3rar 31 33 &2 o9 & STUPID &7 38
orar sraEm?

Options:

. % RSTOHC
. v TUVQJE
2 ® TSVOJC
., = DIPUTS

Question Number : 87 Question Id : 413781187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
In a certain code. DESK is written as 3584, RIDE is written as 1627. How is RISK written in that code?

Options:
1 % 1648

5 % 1846
5 « 1684
4 % 8467

Question Number : 87 Question Id : 413781187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1
v RReT s 9 F, DESK &1 3584, RIDE &1 1627 & & & for@r Srar g1 34 &I a9 & RISK

Fr Fu Tr@r smET?
Options:

| % 1648
. % 1846
- v 1684



4 # 8467

Question Number : 88 Question Id : 413781188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Find the missing number from the given alternatives.

21 44

Options:
1 ® 63

o R ()
T W 72

4. ¢ 15

Question Number : 88 Question Id : 413781188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

Ruar REF=ar 7w GAT TEIT AT

] 4 7 35 9\/5
Y Y ?

Options:

; % 63
> % 65
2 % /12
4« 75

Question Number : 89 Question Id : 413781189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
Find the missing number from the given alternatives.

o 7 7
8 9 6
-
42 58 40

Options:



I

1.
o W 3

Lh

3
4. % 7

Question Number : 89 Question Id : 413781189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

T a0 ReFedt & @ o & AT F

6 7 7
8 9 6
6 5 )
42 58 40

Options:

1. ¢ 2

2 % 3

T 5

4 % 7

Question Number : 90 Question Id : 413781190 Question Type: M CQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

Consider the given statements to be true even if they seem to be at variance from commonly known facts. and decide
which of the conclusions logically follow from the statements.

Statements: (i) All roads are bridges.
(i1) All rails are bridges.

Conclusion: I. Some roads are rails
II. Some bridges are roads
Options:

, % Only conclusion I follows

> of Only conclusion II follows

= # Both conclusion I and II follows

4 % Neither conclusion I nor II follows

Question Number : 90 Question Id : 413781190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1



fow 7 Fuet @ FAS gO, o & F 3 AR W T T A eI F e 7 &, W =R #,
3R favra F & g @ T @ sy R a0 Fyet # aifed T @ FFE0r Fd 2

FU: (i) wsfr |3 97 €|
(ii) Tl Yo 9 &
o= . T g=d I £
. FT 7 F5F B
Options:

| = Saer Ty | 3T EOT &Ll gl

, o e fTSEY 1| HTETOT HIA &

2 ® fershy | 3'ﬂT”E'Fﬁ'3-|u_-__|‘«4-|-¢U| FTE |

F ar fashy | 7 & Ty HFETUT LAl Tl

4 ®

Question Number : 91 Question Id : 413781191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

The ratios of acid and water in vessels A, Band Care 3: 2. 7: 3 and 11 : 4 respectively. Equal volumes of their
solutions are mixed in another vessel D. The ratio of water and acid in D will be:

Options:

1.« 29:61

o -8 61:29

G 2T

4 % 27:59

L

3 ®

Question Number : 91 Question Id : 413781191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

& Faat A, B AT C # 35 3 9= # 39 FAn 3:2, 7:3 3R 114 §| I 94 A ¥ TAA
7 ® forme Feeet ve 3= 599 D # e far s 81 D # 9l 3 3w & s gems

Options:

. @ 29 : 61
, % 61:29
2 % 59 : 27
L % 27 : 59

Question Number : 92 Question Id : 413781192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
A person bought two articles A and B for Rs 5000 and sold A at a gain of 20% and B at a loss of 10%. If the overall
gain in this fransaction was 2%, the difference of cost prices of A and B was:



Options:
1 ® Rs 800

-~ % Rs 900
= « Rs 1000
4 % Rs 1100

Question Number : 92 Question Id : 413781192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

v afda 2 aEgC A 3R B 5000 ¥ # Tlear § 3R A & 20% ST X FUT B F 10% i W
o AT 1 A TH QW A H 3H 2% H Hol T gITE, A A 3R B F FF HeF H I 4@

Options:

| % 800 ¥
> % 900 FII
2 v 1000 FI3
L = 1100 &3

Question Number : 93 Question Id : 413781193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
A traders makes a profit of 52% on an article after allowing two successive discounts of 5% and 20% respectively on to
first price. By what percentage above the cost price was the article marked?

Options:
1 & T

>~ % 87
z ® 05
4« 100

Question Number : 93 Question Id : 413781193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
TS WM U T & Alohd Ao W 5% 3 20% & & FAFE a8 & & qG 52% FT ATH FAA £

TEq & AFa Aea F7 7o ¥ e 3w sidea sfea fGrar mr ar?

Options:

, & 717
> % 87
z % 95
4 « 100

Question Number : 94 Question Id : 413781194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1



The difference between the average of 5 consecutive odd numbers and the average of 5 consecutive even numbers is 13.
The greatest among these ten numbers is 37. The average of the least odd number and the greatest even number among
these numbers is:

Options:

1 % 225
5 of 26,5
3 ® 315
4 % 305

Question Number : 94 Question Id : 413781194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

5 FaAET fGva gEurst F diug 3 5 FHES oF TEmA F dHug F o e 3w 13§ =
&It H T9W 9297 37 ¥ 5 OOt ¥ O g9y o Ay gwwr i gew 995 aw e v oA T

Options:

. % 225
. v 265
2 % 315
. % 305

Question Number : 95 Question Id : 413781195 Question Type : MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Twelve salesmen have an average sale of 9 articles in a week. The 13™ salesman sold 12 more articles than the average

3 th

of all 13 in that week. How many articles did the 13™ salesman sell?

Options:
1 ® 9

o W 10
T W 13
4 o i

Question Number : 95 Question Id : 413781195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

ang st #r v weae #® 3wa i 9 arge € 1397 eear =@fae v weaw & w13 feear
il & g T 12 IEgU A0 J9ar g1 133 Rear safea o raar arge o= 49

Options:

1 % 9
- % 10
2 % 13
4o 22

Question Number : 96 Question Id : 413781196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 4 Wrong: 1

Let x be the least positive integer while when divided by 2, 3. 4. 5 and 6 leaves 1. 2. 3. 4 and 5 remainders respectively
but when divided by 7 leaves no remainder. The sum of the digits of x is:

Options:
1 & 8

2_%9
3_%1{}

4 v 11

Question Number : 96 Question Id : 413781196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

A ST x 98 UaTcHS ok & 8 2, 3, 4, 5 3R 6 ¥ i aa W 99 FA: 1, 2, 3, 4 ¥
5 §=IaT & ofeh o9 39 7 ¥ Tsnfoa forar mar & O 1S 99 AGT g=an X % 3 @ AT &

Options:

1 % 8

2_%9

Question Number : 97 Question Id : 413781197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Let X be the greatest number which when divides 93. 131 and 188 leaving the same remainder Y is each case. The value
of (x - v) is:

Options:
1 ® 1
o 2
T W 3

L

E

Question Number : 97 Question Id : 413781197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

AT AT x I 937 ¥ I3 &I £ o 93, 131 31X 188 ¥ o 3 W ¥3= AHS H TAA

AT y =T &1 (X - y) FT AT &
Options:
1 % 1

> o 2
3_%3

4 % D

Question Number : 98 Question Id : 413781198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 4 Wrong: 1

A person can row downstream 20 kun in 2 hours and upstream 4 km in 2 hours. The ratio of the speed of rowing in still
water to that of the current is:

Options:
1% 5

> % 4
3

— b s faa

i
I

Question Number : 98 Question Id : 413781198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 4 Wrong: 1

U cOfFd U T Hegel G H 2 9 7 20 AT AR g & FuRE fGar & 2 9T # 4 G A
T T g1 AT FY AT T H T FT TAAA A A FT 87

Options:
1 % B

3
> % 413
232
1

4_%’32:

Question Number : 99 Question Id : 413781199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

Renu and Amit started simultaneously in opposite direction from point A and B respectively. After meeting, Renu and
Amit took 4 : 9 hours and 8 : 1 hours respectively to reach their destination. The time taken. in hours. by them to meet
each other 1s:

Options:

1 ® 6.5
o o 6.3
T B 5.8

L

g4 W 5.

Question Number : 99 Question Id : 413781199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

W AR 3T & v gE #7 A Rig A 3R B ¥ T A1y e o Rl ew ¥ A, W sk wfEa
o HIS T T TgwA H HHU: 40 9 WE HR 8 : 1 =el N HAY | 3% &N U g@ ¥ e
# o mr @Ay, W A, &

Options:

1 & 6.5
> o 6.3
= % 5.8
4% 55




Question Number : 100 Question Id : 413781200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1
2 women and 5 men can together finish a piece of work in 4 days while 3 women and 6 men can finish it in 3 days.
2 men with 4 women will finish the same work in:

Options:

2
3= davs
1. % 5 7

3
., 3- days
v 5
1
8- davs
3 8 5 F
3
G- davs
4 ® 57

Question Number : 100 Question Id : 413781200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 4 Wrong: 1

2 3 3T 5 3T v =H F 4 TF F gATT #T @9 §, 9t 3 kg kK 6 AT 3 i
3 AT # &7 5 g1 2 H1eEA 3R 4 g = 1T & gAY Fa # Gaa T e

Options:

3

1. %

3

1797

ook o —



